HENEFY6

(RnELY - #EENEFY)

F M &Zui( )
() 43X25X4 (7) 8X|25X34
(2) 64+85+36 (8) 45X8X 125
(3) 25X6X4 @ T79+4.2+5.8
4 49+49+5]| (10) 8XT70X 125
5y 33+7.7+2.3 (1) BX4X25
6) 5.2+38+4.8 (12) 73+27+58
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HENEFY6

(RnELY - #EENEFY)

F M AEi( )
(1) 43X25X4 (1) 8X|125X34
= 43X (4X25) = (8X125)X34
= 43X |00 = |000X34
= 4300 = 34000
2) 64+85+36 8) 45X8X |25
= (64+36)+85 = 45X (8X125)
= |00+85 = 45X 1000
= |85 = 45000
(3) 2bX6X4 @ 79+4.2+5.8
= (25X4)X6 = 79+ (4.2+5.8)
= |00X6 = T79+10
= 600 = 89
% 49+49+5| (10) 8XTOX 125
= 49+(49+51) = (8X125)X70
= 49+100 = |000X70
= 149 = 70000
) 33+7.7+2.3 (1) BX4X25
= 33+(7.7+2.3) = 5X(4X25)
= 33+10 = 5X 100
= 43 = 500
6) 5.2+38+4.8 (12) 73+27+58
= (5.2+4.8)+38 = (73+27)+58
= |0+38 = |00+58
= 48 = |58
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